id:18 level: O
26: CO C2 C3 C5Co
C7C8C9C11C12C13
Cl14 Cle C17 C18 C19 C20
C21 C22 C23 C24 C25 C26
C27 C28 C29
290: CO = C2(C0C2)C0O0 = C3(Cc0ocC3)cCo = C5( COC5)C0O0 =Co6(CO0Co6)C0O =C7(C0C7)
CO = C8(C0C8)CO =C11(C0OC11)CO = C12(C0C12)CO = C13(C0OC13)C0O = C14(C0C14)CO = C16(CO0C16)
CO = C17(C0C17)C0O = C18(C0O0C18)C0O = C19(C0C19) O = C20(C0 C20)C0O = C21(C0 C21)C0O = C22(C0 C22)
CO = C24(C0C24)C0O = C25(C0C25)C0O = C27(C0 C27 ) CO = C28(C0C28)C0 = C29(C0C29)C2 = C3(C2C3)
2 = C5(C2C5)C2 =C6(C2C06)C2 =C8(C2C8)C2 =CY9(C2C9)C2 =C12(C2C12)C2 =C13(C2C13)
C2 = C14(C2C14)C2 = C16(C2C16)C2 = C17(C2C17)C2 = C18(C2C18)C2 = C19(C2C19)C2 = C21(C2C21)
C2 = C22(C2C22)C2 = C23(C2C23)C2 = C24(C2C24)C2 = C25(C2C25 ) C2 = C26(C2 C26 ) C2 = (C28(C2C28)
C2 = C29(C2C29)C3 = C5(C3C5)C3 =CH(C3C6)C3 =C7(C3C7)C3 =C11(C3C11)C3 =C12(C3C12)
C3 = C13(C3C13)C3 = C14(C3C14)C3 = C16(C3C16)C3 = C17(C3C17)C3 =C(C18(C3C18)C3 = C19(C3C19)
C3 = C20(C3C20)C3 = C21(C3C21)C3 = C23(C3C23)C3 = C24(C3C24)C3 = C25(C3C25)C3 =C26(C3C26)
3 =C27(C3C27)C3 =C28(C3C28)C5 =C6(C5C6)C5 =C7(C5C7)C5 =C8(C5C8)C5 =C9(C5C9)
C5 = C11(C5C11)C5 = C12(C5C12)C5 = CI3(C5C13)C5 = C16(C5C16)C5 = C17(C5C17)C5 = C18(C5C18)
C5 = C19(C5C19)C5 = C20(C5C20)C5 = C21(C5C21)C5 = C23(C5C23)C5 = C24(C5C24)C5 = C25(C5C25)
C5 = C26(C5 C26 ) C5 = C27(C5C27)C5h =_C28( C5 C28 ) C5 = C29(C5C29)C6 = C7(C6C7)Cb6 = C8(C6C8)
Co6 = C9(C6CI9)C6 = C11(C6C11)C6 = C12(C6C12)C6 = C14(C6C14)C6 = Cl6(C6C1H6)CO = C17(COBC17)
C6 = C19(C6C19)Cb = C20(C6C20)C6 = C21(C6C21)Cb6 = C22(C6C22)C6 = C23(C6C23)C6 = C24(C6 C24)
Co = C25(C6 C25)Cb = C26(C6C26)Co = C27(C6 C27)Cb6 = C28(C6C28)C7 = C8(C7C8)C7 = C11(C7C11)
C7 = Cl12(C7C12)C7 = C13(C7C13)C7 = C14(C7C14)C7 = Cle(C7Cl6)C7 = C17(C7C17)C7 = C18(C7C18)
C7 = C19(C7C19)C7 = C20(C7C20)C7 = C21(C7C21)C7 = C23(C7C23)C7 = C24(C7C24)C7 = C25(C7C25)
C7 = C26(C7 C26)C7 = C27(C7C27)C7 = C28(C7C28)C8 = C11(C8C11)C8 = C12(C8C12)C8 = C14(C8C14)
C8 = C16(C8C16)C8 = C17(C8C17)C8 = C19(C8C19)C8 = C21(C8C21)C8 = C22(C8C22)C8 = C23(C8C23)
C8 = (C24(C8C24)C8 = C25(C8C25)C8 = C27(C8C27)C8 = C28(C8C28)C8 = C29(C8C29)C9 = C11(C9C11)
C9 = C12(C9C12)C9 = C13(C9C13)C9 = C14(C9C14)C9 = C16(C9C16)C9 = C17(C9C17)C9 = C18(C9C18)
C9 = C19(C9C19)C9 = C20(C9C20)C9 = C21(C9C21)C9 = C22(C9C22)C9 = C24(C9C24)C9 = C26(C9C26)
C9 = C27(C9C27)C9 = C28(C9C28)C9 = C29(C9C29)C11 = C12(C11C12)C11 = C13(C11C13)C11 = Cl14(Cl1l1C14)
Cll1 = C16(C11C16)Cl11 = C17(C11C17)C11 = C18(C11C18)C11 = C19(C11C19)C11 = C20(C11C20)C11 = C21(C11C21)
Cl1 = C22(C11C22)C11 = C23(C11C23)C11 = C24(C11C24)C11 = C25(C11C25)C11 = C26(C11C26)C11 = C27(C11C27)
Cl1 = C28(C11C28)C11 = C29(C11C29)C12 = C13(C12C13)C12 = C14(C12C14)C12 = C16(Cl12C16)Cl12 = C17(C12C17)
Cl12 = C18(C12C18)Cl12 = C19(C12C19)C12 = C20(C12C20)C12 = C21(C12C21)C12 = C22(C12C22)C12 = C23(C12C23)
Cl2 = C24(C12C24)C12 = C25(C12C25)C12 = C26(C12C26)C12 = C27(C12C27)C12 = C28(C12C28)C12 = C29(C12C29)
C13 = C14(C13C14)C13 = C16(C13C16)C13 = C17(C13C17)C13 = C18(C13C18)C13 = C19(C13C19)C13 = C20(C13C20)
C13 = C21(C13C21)C13 = C22(C13C22)C13 = C23(C13C23)C13 = C24(C13C24)C13 = C26(C13C26)C13 = C27(C13C27)
C13 = C28(C13C28)C13 = C29(C13C29)C14 = C16(C14C16)Cl14 = C17(C14C17)Cl14 = C18(C14C18)C14 = C19(C14 C19)
Cl4 = C20(C14C20)Cl14 = C21(C14C21)Cl14 = C22(C14C22)C14 = C23(C14C23)C14 = C24(C14C24)Cl14 = C25(C14 C25)
Cl4 = C26(C14 C26)Cl14 = C27(C14 C27)Cl14 = C28(C14C28)C14 = C29(C14C29)Cl6 = C17(C16C17)Cl6 = C18(Cl16C18)
C16 = C20(C16 C20)Cl6 = C21(C16C21)Cl6 = C22(Cl16C22)Cl6 = C23(C16C23)Cl6 = C24(C16C24)Cl6 = C25(C16 C25)
C16 = C26(C16 C26)Cl6 = C27(C16 C27)C17 = C18(C17C18)C17 = C19(C17C19)C17 = C20(C17C20)C17 = C21(C17 C21)
C17 = C22(C17C22)C17 = C23(C17C23)C17 = C24(C17C24)C17 = C25(C17C25)C17 = C26(C17C26)C17 = C27(C17 C27)
C17 = C28(C17C28)C17 = C29(C17C29)C18 = C19(C18C19)C18 = C20(C18 C20)C18 = C21(C18C21)C18 = C23(C18 C23)
C18 = C24(C18C24)C18 = C25(C18C25)C18 = C26(C18 C26)C18 = C27(C18 C27)C18 = C28(C18C28)C18 = C29(C18 C29)
C19 = C20(C19C20)C19 = C21(C19C21)C19 = C23(C19C23)C19 = C24(C19C24)C19 = C25(C19C25)C19 = C26(C19 C26)
C19 = C27(C19C27)C19 = C28(C19C28)C20 = C21(C20C21)C20 = C22(C20C22)C20 = C23(C20C23)C20 = C24(C20C24)
C20 = C25(C20 C25)C20 = C26(C20 C26)C20 = C27(C20 C27)C20 = C28(C20C28)C20 = C29(C20C29)C21 = C22(C21 C22)
C21 = C23(C21 C23)C21 = C24(C21C24)C21 = C25(C21 C25)C21 = C26(C21 C26)C21 = C27(C21 C27)C21 = C28(C21C28)
C22 = C23(C22C23)C22 = C24(C22C24)C22 = C25(C22C25)C22 = C26(C22C26)C22 = C27(C22C27)C22 = C28(C22C28)
C22 = C29(C22 C29)C23 = C24(C23C24)C23 = C25(C23C25)C23 = C27(C23 C27)C23 = C28(C23C28)C23 = C29(C23C29)
C24 = C25(C24 C25)C24 = C26(C24 C26)C24 = C27(C24 C27)C24 = C28(C24 C28)C24 = C29(C24 C29)C25 = C26(C25 C26)
C25 = C27(C25C27)C25 = C28(C25C28) C25_= C29(C25C29)C26 = C27(C26 C27)C26 = C28(C26 C28)C26 = C29(C26 C29)
C27 = C28(C27 C28)C27 = C29(C27 C29)C28 = C29(C28 C29)
25: COC2 C3 C5Cob
C7C8C9C1l1C12C13
24: CO C2 C3 C5 C7 C14 C16 C18 C19 C20 C21
C8C9Cl11C12C13C14 C22 C23 C24 C25 C26 C27
Cl16 C17 C18 C19 C20 C21 C28 C29
C22 C23 C25 C26 C27 C28 265: C0 = C2,C0 = C3,C0 = C5,C0 = C6,C0O0 = C7,
C29 CO0 = C8,C0 = Cl11,C0 = C12 ,CO = C13 ,CO = C14 CO_= C1l6,
244.C0 = C2,C0 = C3,C0 = C5,C0 = C7,C0 = C8, C0O = C18,C0 = C19,C0 = C20,C0 = C21,C0O0 = C22,C0 = C24,
CO = C11,C0 = C12,C0 = C13 ,CO = C14 ,C0 = C16,CO0 = C17, CO0 = C25,C0 = C27,C0 = C28,C _=_C29 ,C2 = C3,C2 = C5,
C0 = C18,C0 = C19,C0 = C20,C0 = C21 ,CO_=_C22 ,C0 = C25, C2=0C6,C2 =(C8,C2 =C0C9,C2 =C12,C2 =C13,C2 = C14,
C _=_C27 CO = C28 ,CO = C29 ,C2 = (C3,C2 =C5,C2 = C8, C2 = C16,C2 = C18,C2 = C19 ,C2 = C21,C2 = C22,C2 = C23,
C2 = (C9 C2_— C12 C2 ~C13 C2 = C14 ,C2 = Cl6,C2 = C17, C2 = (C24,C2 = C25,C2 = C26,C2 = C28,C2 = C29,C3 = C5,
C2 = C18,C2 = C19,C2 = C21,C2 = C22,C2 = C23,C2 = C25, c3=066,C3 =C7,C3 =C11,C3 =C12,C3 =C13,C3 =C14,
C2 = C26,C2 = C28 ,C2 = C29 ,C3 =C5,C3 =C7,C3 =C11, C3 = Cl6,C3 = C18,C3 = C19,C3 = C20,C3 = C21,C3 = C23,
C3 = C12,C3 = C13 C3 Cl14 ,C3 = C16,C3 = C17,C3 = C18, C3 = (C24,C3 = C25,C3 = C26,C3 = C27,C3 = C28,C5 = C6,
C3 = C19,C3 = C20,C3 = C21,C3 = C23,C3 = C25,C3 = C26, c5=C7,C5 =(C8,C5 =C9,C5 =C11,C5 =C12,C5 = C13,
C3_=_C27 C3 = C28 ,C5 =C7,C5 =C8,C5 =C9,C5 =Cl11, C5 = C16,C5 = C18,C5 = C19,C5 = C20,C5 = C21,C5 = C23,
C5 = C12 C5 = C13,C5 = C16 C5 = C17 ,C5 = C18,C5 = C19, C5 = C24,C5 = C25,C5 = C26,C5 = C27 ,C5 = C28,C5 = C29,
C5 = C20,C5 = C21,C5 = C23,C5 = C25,C5 = C26,C5 = C27, C6 = C7,C6 =C8,C6 =(C9,C6 =C11,C6 =C12,C6 = C14,
C5 = C28,C5 = C29,C7 = C8,C7 = Cl11,C7 = C12,C7 = C13, C6 = Cl6,C6 = C19 ,C6 = C20,C6 = C21 ,Co6 = C22,C6 = C23,
Cc7 = Cl14,C7 = Cle ,C7 = C17,C7 = C18,C7 = C19,C7 = C20, Co6 = C24,C6 = C25,C6 = C26,C6 = C27 ,C6 = C28,C7 = C8,
C7 = C21,C7 = C23,C7 = C25,C7 = C26,C7 = C27,C7 = C28, c7 =C11,C7 =C12,C7 = C13,C7 = C14 ,C7 = Cl6,C7 = C18,
C8 = C11 ,C8 = Cl12,C8 = C14,C8 = C16,C8 = C17,C8 = C19, C7 =C19,C7 = C20,C7 = C21,C7 = C23,C7 = C24 ,C7 = C25,
C8 = C21,C8 = C22 ,C8 = C23,C8 = C25,C8 = C27,C8 = C28, C7 = C26,C7 = C27,C7 = C28,C8 = C11 ,C8 = C12,C8 = C14,
C8 = C29,C9 = C11,C9 = C12,C9 = C13,C9 = C14,C9 = C16, C8 = C16,C8 = C19,C8 = C21,C8 = C22,C8 = C23,C8 = C24,
C9 = C17,C9 = C18,C9 = C19,C9 = C20,C9 = C21,C9 = C22, C8 = C25,C8 = C27,C8 = C28,C8 = C29,C9 = C11,C9 = C12,
C9 = C26,C9 = C27,C9 = C28, C9 = C29 Cll = C12,Cl11 = C13 C9 = C13,C9 = C14,C9 = C16,C9 = C18,C9 = C19,C9 = C20,
Cl1 = C14 Cll = C16,C11 = C17 ,C11 = C18 ,C11 = C19 ,C11 = C20 C9 = C21,C9 = C22,C9 = C24,C9 = C26,C9 = C27,C9 = C28,
Cl1 = C21,C11 = C22,C11 = C23,C11 = C25,C11 = C26,C11 = C27, ~=C29,C11 = C12,C11 = C13,Cl11 = C14 ,Cl11 = C16 ,C11 = C18
Cl1 = C28,C11 = C29,C12 = C13,C12 = C14 ,C12 = Cl16,C12 = C17, 1 =C19,C11 = C20,C11 = C21 ,C11 = C22 ,C11 = C23,C11 = C24
Cl12 = C18,C12 = C19,C12 = C20,C12 = C21,C12 = C22,C12 = C23, 1 = C25,C11 = C26,C11 = C27,C11 = C28,C11 = C29,C12 = C13,
Cl12 = C25,C12 = C26,C12 = C27,C12 = C28,C12 = C29,C13 = C14, 2 = Cl14,C12 = C16,C12 = C18,C12 = C19,C12 = C20,C12 = C21,
C13 = C16,C13 =C17,C13 = C18,C13 = C19,C13 = C20,C13 = C21, 2 = C22,C12 = C23,C12 = C24,C12 = C25,C12 = C26,C12 = C27,
C13 = C22,C13 = C23,C13 = C26,C13 = C27,C13 = C28,C13 = C29, 2 = C28,C12 = C29,C13 = C14 ,C13 = C16,C13 = C18,C13 = C19,
Cl14 = C16,C14 = C17,C14 = C18,C14 = C19,C14 = C20,C14 = C21, 3 = C20,C13 = C21,C13 = C22,C13 = C23,C13 = C24,C13 = C26,
Cl4 = C22,C14 = C23,C14 = C25,C14 = C26,C14 = C27,C14 = C28, 3 =C27,C13 = C28,C13 = C29,C14 = C16,C14 = C18,Cl14 = C19,
Cl14 = C29,C16 = C17,C16 = C18,C16 = C20,C16 = C21,Cl6 = C22, 4 = C20,C14 = C21,C14 = C22,C14 = C23,C14 = C24 ,C14 = C25,
Cl6 = C23,Cl6 = C25,C1l6 = C26,Cl16 = C27,C17 = C18,C17 = C19, 4 = C26,C14 = C27,C14 = C28,C14 = C29,Cl6 = C18,Cl16 = C20,
Cl7 = C20,C17 = C21,C17 = C22,C17 = C23,C17 = C25,C17 = C26, 6 = C21,Cl16 = C22,Cl6 = C23,C16 = C24,C16 = C25,C16 = C26,
Cl7 = C27,C17 = C28,C17 = C29,C18 = C19,C18 = C20,C18 = C21, 6 = C27,C18 = C19,C18 = C20,C18 = C21,C18 = C23,C18 = C24,
C18 = C23,C18 = C25,C18 = C26,C18 = C27,C18 = C28,C18 = C29, 8 = C25,C18 = C26,C18 = C27,C18 = C28,C18 = C29,C19 = C20,
C19 = C20,C19 = C21,C19 = C23,C19 = C25,C19 = C26,C19 = C27, 9 = C21,C19 = C23,C19 = C24,C19 = C25,C19 = C26,C19 = C27,
C19 = C28,C20 = C21,C20 = C22,C20 = C23,C20 = C25,C20 = C26, 9 = C28,C20 = C21,C20 = C22,C20 = C23,C20 = C24 ,C20 = C25,
C20 = C27,C20 = C28,C20 = C29,C21 = C22,C21 = C23,C21 = C25, 0 = C26,C20 = C27,C20 = C28,C20 = C29,C21 = C22,C21 = C23,
C21 = C26,C21 = C27,C21 = C28,C22 = C23,C22 = C25,C22 = C26, 1 = C24,C21 = C25,C21 = C26,C21 = C27,C21 = (C28 ,C22 = C23,
C22 = C27,C22 = C28,C22 = C29,C23 = C25,C23 = C27,C23 = C28, 2 = C24,C22 = C25,C22 = C26,C22 = C27,C22 = C28,C22 = C29,
C23 = C29,C25 = C26,C25 = C27 C25 = (C28,C25 = C29,C26 = C27, 3 = (C24,C23 = C25,C23 = C27,C23 = C28,C23 = C29,C24 = C25,
26 = C28,C26 = C29,C27 = C28,C27 = C29,C28 = C29, 4 = C26,C24 = C27,C24 = C28,C24 = C29,C25 = C26,C25 = C27,
5 = C28,C25 = C29,C26 = C27,C26 = C28,C26 = C29,C27 = C28,
C27 = C29,C28 = C29,
id:20 level: 1
26: COC1 C2C3C5h
id:19 level: 1 CoC7C8C9C11C12
25: CO C2 C3 C5 C7 C13 C14 C16 C18 C19 C20
C8C9Cl1C12C13C14 C21 C22 C23 C24 C25 C26
C15C16 C17 C18 C19 C20 C27 C28 C29
C21 C22 C23 C25 C26 C27 289: CO = C1(CO0C1)CO = C2(C0cC2)cCo —_C3( COC3)C0O0 = C5(COC5)C0O = Cob(C0OCo)
C28 C29 CO = C7(C0OC7)C0O =C8(C0OC8)C0O =C11(C0C11)CO = C12(C0C12)C0O = C13(C0C13)C0O = C14(C0C14)
264: CO = C2(C0O0C2)C0O = C3(C0O0C3)C0O = (Ch(COCH)CO_ _C7( COC7)C0 = C8(C0C8) CO = C16(C0C16)C0O = C18(C0C18)C0O = C19(C0C19)C0O = C20(C0C20)CO = C21(C0OC21)CO = C22(C0C22)
CO = C11(C0C11)C0O = C12(C0C12)C0O = C13(C0C13) CO = C14(C0C1I4)C0 = C15(C0C15)C0O = C16(CO0 C16) CO = C24(C0C24)C0O = C25(C0C25)C0O = C27(C0C27)C0O = C28(C0 C28 ) CO = C29(C0C29)C1 = C2(C1C2)
CO = C17(C0C17)C0O = C18(C0OC18)CO = C19(COC19 ) = C20(C0 C20)C0O = C21(C0C21)C0O = C22(C0C22) Cl =C3(C1C3)C1 =C5(C1C5)C1 =C6(C1C6)C1 =C7(C1C7)C1 =C8(C1C8)C1 =2C9(C10C9)
CO = C25(C0C25)C0O = C27(C0C27)CO = C28(C0 C28 ) CO = C29(C0C29)C2 = C3(C2C3)C2 =C5(C2C5H) Cl = C12(C1C12)C1 = C13(C1C13)C1 =ClI4(C1C14)Cl =C16(C1C16)C1 = C18(C1C18)C1 = C19(C1C19)
C2 = C8(C2C8)C2 =C9(C2C9)C2 =C12(C2C12)C2 = C13(C2C13)C2 = C14(C2C14)C2 = C15(C2C15) Cl = C20(C1C20)C1 = C21(C1C21)C1 = C22(C1C22)C1 = C23(C1C23)C1 = (C24(C1C24)C1 =C25(C1C25)
C2 = C16(C2C16)C2 = C17(C2C17)C2 = C18(C2C18 ) C2 = C19(C2C19)C2 = C21(C2C21)C2 = C22(C2C22) 1 =C26(C1C26)C1 = C27(C1C27)C1 =C28(C1C28)C1 =C29(C1C29)C2 = C3(C2C3)C2 =C5(C2C5)
C2 = C23(C2C23)C2 = C25(C2C25 ) C2 = C26(C2C26)C2 = C28(C2C28)C2 = C29(C2C29)C3 = C5(C3Ch) C2 = C6(C2C6)C2 =C8(C2C8)C2 =C9(C2C9)C2 =C12(C2C12)C2 = C13(C2C13)C2 = C14(cz2C14)
C3 = C7(C3C7)C3 =CI1(C3C11)C3 = C12(C3C12)C3 = C13(C3C13)C3 =CI4(C3C14)C3 = C15(C3C15) C2 = C16(C2C16)C2 = C18(C2C18)C2 = C19(C2C19)C2 = C21(C2C21)C2 = (C22(C2C22)C2 = C23(C2C23)
C3 = C16(C3Cl6)C3 = C17(C3C17)C3 = C18(C3C18)C3 = C19(C3C19)C3 = (C20(C3C20)C3 = C21(€C3C21) C2 = C24(C2C24)C2 = C25(C2 C25 ) C2 = C26(C2C26)C2 = C28(C2 C28 ) C2 = C29(C2C29)C3 = C5(C3C5)
C3 = C23(C3C23)C3 = C25(C3C25 ) C3 = C26(C3 C26 ) C3 = C27(C3C27)C3 = C28(C3C28 ) C5 = C7(C5C7) C3 =C6(C3C6)C3 =C7(C3C7)C3 =C11(C3C11)C3 =C12(C3C12)C3 =C13(C3C13)C3 = C14(c3c14)
C5 =C8(C5C8)C5 =C9(C5C9)C5 = C11(C5C11)C5 = C12(C5C12)C5 = C13(C5C13)C5 = C15(C5C15) C3 = C16(C3C16)C3 = C18(C3C18)C3 = C19(C3C19)C3 = C20(C3 C20) C3 = C21(C3C21)C3 = C23(C3C23)
C5 = C16(C5C16)C5 = C17(C5C17)C5 = C18(C5C18)C5 = C19(C5C19)C5 = C20(C5C20)C5 = C21(C5C21) C3 = C24(C3C24)C3 = C25(C3C25)C3 = C26(C3C26)C3 = C27(C3C27)C3 =C28(C3C28)C5 =Co6(C5C0)
C5 = C23(C5C23)C5 = C25(C5C25)C5 = C26(C5C26)C5 = C27(C5C27)C5 = C28(C5C28)C5 = C29(C5C29) C5 = C7(C5C7)C5 =C8(C5C8)C5 =C9(C5C9)C5 = C11(C5C11)C5 = C12(C5C12)C5 = C13(C5C13)
C7 = C8(C7C8)C7 = Cl11(C7C11)C7 = C12(C7C12)C7 = C13(C7C13)C7 = Cl14(C7C14)C7 = C15(C7C15) C5 = C16(C5C16)C5 = C18(C5C18)C5 = C19(C5C19)C5 = C20(C5C20)C5 = (C21(C5C21)C5 = (C23(C5C23)
C7 = Cl16(C7Cl6)C7 = C17(C7C17)C7 = C18(C7C18)C7 = C19(C7C19)C7 = C20(C7C20)C7 = C21(C7C21) C5 = C24(C5C24)C5 = C25(C5C25)C5 = C26(C5C26)C5 = C27(C5C27)C5 = C28(C5C28)C5 = C29(C5C29)
C7 = C23(C7C23)C7 = C25(C7C25)C7 = C26(C7C26)C7 = C27(C7C27)C7 = C28(C7C28)C8 = C11(C8C11) C6 = C7(C6C7)C6 = C8(C6C8)C6 = CI9(C6CI9)C6 = C11(C6C11)C6 = C12(C6C12)C6 = Cl14(C6C14)
C8 = C12(C8C12)C8 = C14(C8C14)C8 = C16(C8C16)C8 = C17(C8C17)C8 = C19(C8C19)C8 = C21(C8 C21) C6 = C16(C6Cl6)C6 = C19(C6C19)Co = C20(C6 C20)C6 = C21(C6C21)C6 = C22(C6C22)C6 = C23(C6C23)
C8 = (C22(C8C22)C8 = C23(C8C23)C8 = C25(C8C25)C8 = C27(C8C27)C8 = C28(C8C28)C8 = C29(C8C29) C6 = C24(C6C24)C6 = C25(C6C25)Cb = C26(C6C26)Cb6 = C27(C6C27)C6 = C28(C6C28)C7 = C8(C7C8)
C9 = Cl11(C9C11)C9 = C12(C9C12)C9 = C13(C9C13)C9 = C14(C9C14)C9 = C15(C9C15)C9 = C16(C9Cl16) C7 = Cl11(C7C11)C7 = C12(C7C12)C7 = C13(C7C13)C7 = Cl14(C7C14)C7 = Cl6(C7Cl1l6)C7 = C18(C7C18)
C9 = Cl17(C9C17)C9 = C18(C9C18)C9 = C19(C9C19)C9 = C20(C9C20)C9 = C21(C9C21)C9 = C22(C9C22) C7 = C19(C7C19)C7 = C20(C7C20)C7 = C21(C7C21)C7 = C23(C7C23)C7 = C24(C7C24)C7 = C25(C7C25)
C9 = C26(C9C26)C9 = C27(C9C27)C9 = C28(C9C28)C9 = C29(C9C29)C11 = Cl12(C11C12) C11_=_C13( Cl1l1 C13) C7 = C26(C7C26)C7 = C27(C7C27)C7 = C28(C7C28)C8 = C11(C8C11)C8 = C12(C8C12)C8 = C14(C8C14)
Cll1 = C14(C11C14)C11 = C16(C11C16)C11 = C17(C11C17)C11 = C18(C11C18)C11 = C19(C11C19)C11 = C20(C11C20) C8 = C16(C8C16)C8 = C19(C8C19)C8 = C21(C8C21)C8 = C22(C8C22)C8 = C23(C8C23)C8 = C24(C8C24)
Cl11 = C21(C11C21)C11 = C22(C11C22)C11 = C23(C11C23)C11 = C25(C11C25)C11 = C26(C11C26)C11 = C27(C11C27) C8 = C25(C8C25)C8 = C27(C8C27)C8 = C28(C8C28)C8 = C29(C8C29)C9 = C11(C9C11)C9 = C12(C9C12)
Cl1 = C28(C11C28)C11 = C29(C11C29)C12 = C13(C12C13)C12 = C14(Cl12C14)Cl12 =C16(Cl12Cl16)Cl12 = C17(C12C17) C9 = C13(C9C13)C9 = C14(C9C14)C9 = C16(C9C16)C9 = C18(C9C18)C9 = C19(C9C19)C9 = C20(C9C20)
C12 = C18(C12C18)C12 = C19(C12C19)C12 = C20(C12C20)C12 = C21(C12C21)C12 = C22(C12C22)C12 = C23(C12C23) C9 = C21(C9C21)C9 = C22(C9C22)C9 = C24(C9C24)C9 = C26(C9C26)C9 = C27(C9C27)C9 = C28(C9C28)
Cl12 = C25(C12C25)Cl12 = C26(C12C26)C12 = C27(C12C27)C12 = C28(C12C28)C12 = C29(C12C29)C13 = Cl14(C13C14) C9 = C29(C9C29)C11 = C12(C11C12)C11 = C13(C11C13)C11 = C14(C11C14)C11 = C16(C11C16)C11 = C18(C11C18)
C13 = C15(C13C15)C13 = C16(C13C16)C13 = C17(C13C17)C13 = C18(C13C18)C13 = C19(C13C19)C13 = C20(C13C20) Cl1 = C19(C11C19)C11 = C20(C11C20)C11 = C21(C11C21)C11 = C22(C11C22)C11 = C23(C11C23)C11 = C24(C11C24)
C13 = C21(C13C21)C13 = C22(C13C22)C13 = C23(C13C23)C13 = C26(C13C26)C13 = C27(C13C27)C13 = C28(C13C28) Cl1 = C25(C11C25)C11 = C26(C11C26)C11 = C27(C11C27)C11 = C28(C11C28)C11 =C29(C11C29)C12 =C13(C12C13)
C13 = C29(C13C29)Cl14 = C15(C14C15)Cl14 = C16(C14C16)Cl14 = C17(C14C17)Cl14 = C18(C14C18)Cl14 = C19(C14 C19) Cl12 = C14(C12C14)Cl12 = C16(C12C16)Cl12 = C18(C12C18)C12 = C19(C12C19)C12 = C20(C12C20)C12 = C21(C12C21)
Cl4 = C20(C14C20)Cl14 = C21(C14C21)Cl14 = C22(C14C22)Cl14 = C23(C14C23)Cl14 = C25(C14C25)C14 = C26(C14 C26) Cl12 = C22(C12C22)C12 = C23(C12C23)C12 = C24(C12C24)C12 = C25(C12C25)C12 = C26(C12C26)C12 = C27(C12C27)
Cl4 = C27(C14 C27)Cl14 = C28(C14C28)Cl14 = C29(C14C29)Cl15 = C16(C15C16)Cl15 = C17(C15C17)C15 = C18(C15C18) Cl12 = C28(C12C28)C12 = C29(C12C29)C13 = C14(C13C14)C13 = C16(C13C16)C13 = C18(C13C18)C13 = C19(C13C19)
C15 = C19(C15C19)C15 = C20(C15C20)C15 = C21(C15C21)C15 = C23(C15C23)C15 = C25(C15C25)C15 = C26(C15 C26) C13 = C20(C13C20)C13 = C21(C13C21)C13 = C22(C13C22)C13 = C23(C13C23)C13 = (C24(C13C24)C13 = C26(C13C26)
C15 = C27(C15C27)C15 = C28(C15C28)Cl15 = C29(C15C29)Cl6 = C17(C16C17)Cl6 = C18(C16 C18)Cl6 = C20(C16 C20) C13 = C27(C13 C27)C13 = C28(C13C28)C13 = C29(C13C29)C14 = C16(C14C16)Cl14 = C18(C14C18)C14 = C19(C14 C19)
C16 = C21(C16 C21)Cl16 = C22(C16C22)Cl6 = C23(C16C23)Cl6 = C25(C16 C25)Cl6 = C26(C16 C26)Cl6 = C27(C16 C27) Cl4 = C20(C14C20)Cl14 = C21(C14C21)Cl14 = C22(C14C22)C14 = C23(C14C23)C14 = C24(C14C24)Cl14 = C25(C14 C25)
C17 = C18(C17C18)C17 = C19(C17C19)C17 = C20(C17C20)C17 = C21(C17C21)C17 = C22(C17C22)C17 = C23(C17 C23) Cl4 = C26(C14 C26)Cl14 = C27(C14 C27)Cl14 = C28(C14C28)C14 = C29(C14C29)Cl6 = C18(C16C18)Cl6 = C20(C16 C20)
C17 = C25(C17C25)C17 = C26(C17C26)C17 = C27(C17C27)C17 = C28(C17C28)C17 = C29(C17C29)C18 = C19(C18C19) C16 = C21(C16 C21)Cl6 = C22(C16C22)Cl6 = C23(C16C23)Cl6 = C24(C16C24)Cl6 = C25(Cl16C25)Cl6 = C26(C16 C26)
C18 = C20(C18 C20)C18 = C21(C18C21)C18 = C23(C18C23)C18 = C25(C18C25)C18 = C26(C18 C26)C18 = C27(C18 C27) Cl16 = C27(C16 C27)C18 = C19(C18C19)C18 = C20(C18 C20)C18 = C21(C18C21)C18 = C23(C18C23)C18 = C24(C18C24)
C18 = C28(C18C28)C18 = C29(C18C29)C19 = C20(C19C20)C19 = C21(C19C21)C19 = C23(C19C23)C19 = C25(C19C25) C18 = C25(C18 C25)C18 = C26(C18 C26)C18 = C27(C18 C27)C18 = C28(C18C28)C18 = C29(C18 C29)C19 = C20(C19 C20)
C19 = C26(C19C26)C19 = C27(C19C27)C19 = C28(C19C28)C20 = C21(C20C21)C20 = C22(C20C22)C20 = C23(C20C23) C19 = C21(C19C21)C19 = C23(C19C23)C19 = C24(C19C24)C19 = C25(C19C25)C19 = C26(C19C26)C19 = C27(C19 C27)
C20 = C25(C20 C25)C20 = C26(C20 C26)C20 = C27(C20 C27)C20 = C28(C20C28)C20 = C29(C20C29)C21 = C22(C21C22) C19 = C28(C19C28)C20 = C21(C20C21)C20 = C22(C20C22)C20 = C23(C20C23)C20 = C24(C20C24)C20 = C25(C20C25)
C21 = C23(C21C23)C21 = C25(C21 C25)C21 = C26(C21 C26)C21 = C27(C21 C27)C21 = C28(C21 C28)C22 = C23(C22C23) C20 = C26(C20 C26)C20 = C27(C20 C27)C20 = C28(C20C28)C20 = C29(C20C29)C21 = C22(C21C22)C21 = C23(C21C23)
C22 = C25(C22 C25)C22 = C26(C22C26)C22 = C27(C22 C27)C22 = C28(C22C28)C22 = C29(C22C29)C23 = C25(C23C25) C21 = C24(C21 C24)C21 = C25(C21 C25)C21 = C26(C21 C26)C21 = C27(C21 C27)C21 = C28(C21 C28)C22 = C23(C22C23)
C23 = C27(C23 C27)C23 = C28(C23C28)C23 = C29(C23C29)C25 = C26(C25C26)C25 = C27(C25C27)C25 = C28(C25C28) C22 = C24(C22C24)C22 = C25(C22C25)C22 = C26(C22 C26)C22 = C27(C22 C27)C22 = C28(C22C28)C22 = C29(C22C29)
C25 = C29(C25C29)C26 = C27(C26 C27)C26 = C28(C26 C28) C26_= “C29(C26 C29)C27 = C28(C27C28)C27 = C29(C27C29) C23 = C24(C23 C24)C23 = C25(C23 C25)C23 = C27(C23 C27)C23 = C28(C23C28)C23 = C29(C23C29)C24 = C25(C24 C25)
C28 = C29(C28 C29) C24 = C26(C24 C26)C24 = C27(C24 C27)C24 = C28(C24 C28)C24 = C29(C24 C29)C25 = C26(C25C26)C25 = C27(C25C27)
C25 = C28(C25C28)C25 = C29(C25C29)C26 = C27(C26 C27)C26 = C28(C26 C28)C26 = C29(C26 C29)C27 = C28(C27 C28)
C27 = C29(C27 C29)C28 = C29(C28C29)
20: COC1 C2 C5 C6b
C7C8C9C1l1C13C14
19: CO C2 C3C8 (C9 C18 C20 C21 C22 C24 C26
C11 C12 C13 C14 C15C1o C27 C28 C29
C19 C20 C21 C22 C23 C25 168: CO = C1 ,C0 = C2,C0 = C5,C0 = C6,CO0 = C7,
C27 C29 C0O = C8,C0 = C11,C0 = C13 ,CO0 = C14 ,CO = C18 CO_— C20,
147.C0 = C2,C0 = C3,C0 = C8,C0 = C11,CO0 = C12, CO0 = C21,C0 = C22,C0 = C24,C0 = C27,C0 = C28,C0 =_C29
CO0 = C13,C0 = C14 ,CO = C15 ,C0 = C16,C0 = C19 ,CO = C20 cCl=C2,C1 =C5,C1 =C6,C1 =C7 Cl = C8 C1_= C9,
CO = C21,C0 = C22,C0 = C25,C0 = C27,C0 = C29,C2 = C3, Cl = C13,C1 = C14,C1 = C18,C1 = C20 ,Cl = C21 ,C1 = C22,
C2 = (C8,C2 = (C9 C2 = C12 C2 = C13 C2 = Cl4 C2 = C15, Cl =C24,C1 = C26,C1 = C27,C1 = (C28,C1 =C29,C2 = C5,
C2 = Cl6,C2 = C19 ,C2 = _C21 ,C2 = _C22 C2 = C23 ,C2 = C25 C2 =C6,C2 =C8,C2 =(C9 C2 = C13 C2 = C14,C2 = C18,
C2 = C29,C3 =C11,C3 = C12,C3 = C13 ,C3 = C14 ,C3 = C15, C2 = C21,C2 = C22,C2 = C24 CZ_—_C26 C2 = C28 ,C2 = C29,
C3 = Cl16,C3 = C19,C3 = C20,C3 = C21,C3 = C23 ,C3 = C25, C5 = C6,C5 = C7 ,C5 = C8,C5 = C9,C5 = C11 ,C5_=_C13 ,
C3 = C27,C8 = C11,C8 = C12,C8 = C14,C8 = C16,C8 = C19, C5 = C18,C5 = C20,C5 = C21,C5 = C24,C5 = C26,C5 = C27,
C8 = C21,C8 = C22,C8 = C23,C8 = C25,C8 = C27,C8 = C29, C5 = C28,C5 = (C29,C6 = C7,C6 =C8,C6 = C9,C6 = C11,
cC9 =C11,C9 = C12,C9 = C13,C9 = C14,C9 = C15,C9 = C16, Co6 = Cl14 ,C6 = C20,C6 = C21 ,Co6 = C22,C6 = C24 ,C6 = C206,
C9 = C19,C9 = C20,C9 = C21,C9 = C22,C9 = C27,C9 = C29, C6 = C27,C6 = C28,C7 = C8,C7 = C11,C7 = C13,C7 = Cl4,
C11 = C12,C11 = C13 ,C11_=_C14,C11_—_C16 Cll_—_C19 Cll_—_CZO , C7 = C18,C7 = C20,C7 = C21,C7 = C24 ,C7 = C26,C7 = C27,
Cl1 = C21,C11 = C22,C11 = C23,C11 = C25,C11 = C27,C11 = C29, C7 = C28,C8 = C11,C8 = C14,C8 = C21,C8 = C22,C8 = C24,
Cl12 = C13,C12 = C14,C12 = C16,C12 = C19,C12 = C20,C12 = C21, C8 = C27,C8 = C28,C8 = C29,C9 = C11,C9 = C13,C9 = C14,
Cl2 = C22,C12 = C23,C12 = C25,C12 = C27,C12 = C29,C13 = Cl4, C9 = C18,C9 = C20,C9 = C21,C9 = C22,C9 = C24,C9 = C26,
C13 = C15,C13 = C16,C13 = C19,C13 = C20,C13 = C21,C13 = C22, C9 = C27 C9 = (C28 C9 = C29 C11 = C13 C11 Cl14 ,C11 = C18
C13 = C23,C13 = C27,C13 = C29,C14 = C15,C14 = C16,C14 = C19, Cl1 = C20 Cll = C21,Cl11 = C22 ,C11 = C24 ,C11 = C26 ,C11 = C27
Cl4 = C20,C14 = C21,C14 = C22,C14 = C23,C14 = C25,C14 = C27, Cl1 = C28,C11 = C29,C13 = C14,C13 = C18,C13 = C20,C13 = C21,
Cl4 = C29,C15 = C16,C15 = C19,C15 = C20,C15 = C21,C15 = C23, C13 = C22,C13 = C24 ,C13 = C26,C13 = C27,C13 = C28,C13 = C29,
C15 = C25,C15 = C27,C15 = C29,Cl6 = C20,Cl6 = C21,Cl16 = C22, Cl4 = C18,C14 = C20,C14 = C21,C14 = C22,C14 = C24,C14 = C26,
C16 = C23 ,C16 = C25,Cl6 = C27,C19 = C20,C19 = C21,C19 = C23, Cl4 = C27,C14 = C28,C14 = C29,C18 = C20,C18 = C21 ,C18 = C24,
C19 = C25,C19 = C27,C20 = C21,C20 = C22,C20 = C23,C20 = C25, C18 = C26,C18 = C27,C18 = C28,C18 = C29,C20 = C21,C20 = C22,
C20 = C27,C20 = C29,C21 = C22,C21 = C23,C21 = C25,C21 = C27, C20 = C24 ,C20 = C26,C20 = C27,C20 = C28,C20 = C29,C21 = C22,
C22 = C23,C22 = C25,C22 = C27,C22 = C29,C23 = C25,C23 = C27, C21 = C24,C21 = C26,C21 = C27,C21 = C28,C22 = C24,C22 = C26,
C23 = C29,C25 = C27,C25 = C29,C27 = C29, C22 = C27,C22 = C28,C22 = C29,C24 = C26,C24 = C27,C24 = C28,
C24 = C29,C26 = C27,C26 = C28,C26 = C29,C27 = C28,C27 = C29,
C28 = C29,
Y
id:22 level: 2
Y 21: COC1 C2C4 C5
id:21 level: 2 Co C7C8C9C11C13
20: COC2 C3 C8(C9 C14 C18 C20 C21 C22 C24
C10 C11 C12 C13 C14 C15 C26 C27 C28 C29
C16 C19 C20 C21 C22 C23 188: CO = C1(COC1)CO = C2(C0O0C2)C0O =C4(C0C4)C0O =C5(C0CH)CO =cCco(CcOoCo)
C25 C27 C29 CO =C7(C0OC7)C0O =C8(CO0C8)C0O =C11(C0C11)C0O =C13(C0C13)C0 = C14(C0C14)C0O0 = cC18(C0cC18)
166: CO = C2(C0C2)C0O = C3(CO0C3)C0O =C8(C0C8)C0O =C10(cocC10)C0o = cC11(cocCc11) CO = C20(C0C20)C0O0 = C21(C0O0C21)C0O = C22(C0C22)C0O = (C24(C0O0C24)cC0o = C27(€C0O0C27)C0O = C28(C0C28)
CO = C12(C0C12)C0O0 = C13(C0C13)C0O0 = C14(C0C14)C0 = C15(C0C15)C0 = Clbo(CO0C16)C0O = C19(CO0C19) CO = C29(C0C29)C1 =C2(C1C2)C1 =cC4(C1C4)C1 =C5(C1Ch) C1_=_ 6(C1C6)C1l = C7(C1C7)
CO = C20(C0C20)C0O = C21(C0C21)CO = C22(C0OC22)CO = C25(COC25)CO = C27(COC27)CO = C29(C0OC29) Cl =C8(C1C8)C1 =(C9(C1(C9)C1 =CcC13(C1C13)C1 =C14(C1C14)C1 =cC18(cC1C18)C1 = C20(C1C20)
C2 = C3(C2C3)C2 =C8(C2C8)C2 =C9(C2C9)C2 =C10(C2C10)C2 = C12(C2C12)C2 = C13(C2C13) Cl = C21(C1C21)C1 = C22(C1C22)C1 = C24(C1C24)C1 = C26(C1C26)C1 = C27(C1C27)C1 = C28(C1C28)
C2 = Cl14(C2C14)C2 = C15(C2C15)C2 = C16(C2C16)C2 = C19(C2C19)C2 = C21(C2C21)C2 = C22(C2C22) Cl = C29(C1C29)C2 =C4(C2C4)C2 =C5(C2CH)C2 =CH(C2CO)C2 = C8(C2C8)C2 = C9(C2C9)
C2 = C23(C2C23)C2 = C25(C2C25)C2 =C29(C2C29)C3 =C10(C3C10)C3 = C11(C3C11)C3 =C12(C3C12) C2 = C13(C2C13)C2 = C14(C2C14)C2 = C18(C2C18)C2 = C21(C2C21)C2 = (C22(C2C22)C2 = (C24(C2C24)
C3 = C13(C3C13)C3 = C14(C3C14)C3 = C15(C3C15)C3 = C16(C3C16)C3 = C19(C3C19)C3 = C20(C3C20) C2 = C26(C2C26)C2 = C28(C2C28)C2 = (C29(C2C29)C4 = C5(C4C5 ) C4 = Co6(C4Co) C4_=_C7( C4C7)
C3 = C21(C3C21)C3 = C23(C3C23)C3 =C25(C3C25)C3 =C27(C3C27)C8 =C10(C8C10)C8 = C11(C8C11) C4 =C8(C4C8)C4 =(C9(C4C9)C4 =C11(C4C11)C4 =C13(C4C13)C4 =cC14(Cc4cC14)Cc4 = c18(Cc4 c18)
C8 = C12(C8C12)C8 = C14(C8C14)C8 = C16(C8C16)C8 = C19(C8C19)C8 = C21(C8C21)C8 = C22(C8C22) C4 = C20(C4C20)C4 = C21(C4C21)C4 = C22(C4C22)C4 = (C24(C4C24)C4 = Cc26(C4 C206 ) C4 = C27(C4 C27)
C8 = (C23(C8C23)C8 = C25(C8C25)C8 = C27(C8C27)C8 = C29(C8C29)C9 = C10(C9C10)C9 = C11(C9C11) 4 = (C28(C4C28)C4 = C29(C4C29)C5 =C6(C5C6)C5 = C7(C5C7)C5 =C8(C5C8)C5 = CI9(C5C9)
C9 = C12(C9C12)C9 = C13(C9C13)C9 = C14(C9C14) C9_=_C15( C9C15)C9 = C16(C9C16)C9 = C19(C9C19) C5 = C11(C5C11)C5 = C13(C5C13)C5 = C18(C5C18)C5 = C20(C5C20)C5 = C21(C5C21)C5 = C24(C5C24)
C9 = C20(C9C20)C9 = C21(C9C21)C9 = C22(C9C22)C9 = C27(C9C27) C9_=_C29( C9C29)C10 = C11(C10C11) 5 = C26(C5C26)C5 = C27(C5 C27 ) C5 = C28(C5C28)C5 = C29(C5C29)C6 = C7(C6C7)Cb6 = C8(C6C8)
C10 = C12(C10C12)C10 = C13(C10C13)C10 = C14(C10C14)C10 = C15(C10C15)C10 = C16(C10C16)C10 = C19(C10C19) C6 = C9(C6C9)C6 = C11(C6C11)CH = C14(C6C14)C6 = C20(C6C20)CO = C21(COC21)C6 = C22(C6 C22)
C10 = C20(C10C20)C10 = C21(C10C21)C10 = C22(C10C22)C10 = C23(C10C23)C10 = C25(C10C25)C10 = C27(C10C27) C6 = C24(C6C24)C6 = C26(C6C26)C6 = C27(C6C27)C6 = C28(C6C28)C7 = C8(C7C8)C7 = C11(C7C11)
C10 = C29(C10C29)C11 = C12(C11C12)C11 = C13(C11C13)C11 = C14(C11C14)C11 = C16(C11C16)C11 = C19(C11C19) C7 = C13(C7C13)C7 = C14(C7C14)C7 = C18(C7C18)C7 = C20(C7C20)C7 = C21(C7C21)C7 = C24(C7 C24)
Cl11 = C20(C11C20)C11 = C21(C11C21)C11 = C22(C11C22)C11 = C23(C11C23)C11 = C25(C11C25)C11 = C27(C11C27) C7 = C26(C7C26)C7 = C27(C7C27)C7 = C28(C7C28)C8 = C11(C8C11)C8 = C14(C8C14)C8 = C21(C8C21)
C11 = C29(C11C29)C12 = C13(C12C13)C12 = C14(C12C14)C12 = C16(C12C16)C12 = C19(C12C19)C12 = C20(C12C20) C8 = C22(C8C22)C8 = (C24(C8C24)C8 = C27(C8C27)C8 = C28(C8C28)C8 = C29(C8C29)C9 = C11(C9C11)
C12 = C21(C12C21)C12 = C22(C12C22)C12 = C23(C12C23)C12 = C25(C12C25)C12 = C27(C12C27)C12 = C29(C12C29) C9 = C13(C9C13)C9 = C14(C9C14) C9_=_C18( C9C18)C9 = C20(C9C20)C9 = C21(C9C21) C9 =_C22( C9 C22)
C13 = C14(C13Cl14)C13 = C15(C13C15)C13 = C16(C13C16)C13 = C19(C13C19)C13 = C20(C13C20)C13 = C21(C13C21) C9 = C24(C9C24)C9 = C26(C9C26)C9 = C27(C9C27)C9 = C28(C9 C28)C9_=_C29( C9C29)C11 = C13(C11C13)
C13 = C22(C13C22)C13 = C23(C13C23)C13 = C27(C13C27)C13 = C29(C13C29)C14 = C15(C14C15)Cl14 = Cl6(C14 C16) Cl1 = C14(C11C14)Cl11 = C18(C11C18)C11 = C20(C11C20)C11 = C21(C11C21)C11 = C22(C11C22)C11 = C24(C11C24)
Cl4 = C19(C14C19)C14 = C20(C14 C20)C14 = C21(C14C21)Cl14 = C22(C14C22)C14 = C23(C14C23)C14 = C25(C14 C25) Cl1 = C26(C11C26)C11 = C27(C11C27)C11 = C28(C11C28)C11 = C29(C11C29)C13 = C14(C13C14)C13 = C18(C13C18)
Cl4 = C27(C14 C27)Cl14 = C29(C14C29)C15 = C16(C15C16)C15 = C19(C15C19)C15 = C20(C15C20)C15 = C21(C15C21) C13 = C20(C13C20)C13 = C21(C13C21)C13 = C22(C13C22)C13 = (C24(C13C24)C13 = C26(C13C26)C13 = C27(C13C27)
C15 = C23(C15C23)C15 = C25(C15C25)C15 = C27(C15C27)C15 = C29(C15C29)C16 = C20(C16 C20)C1l6 = C21(C16C21) C13 = C28(C13C28)C13 = (C29(C13C29)C14 = C18(C14C18)C14 = C20(C14C20)C14 = C21(C14C21)C14 = C22(C14 C22)
C16 = C22(C16 C22)Cl16 = C23(C16 C23)Cl16 = C25(C16 C25)Cl6 = C27(C16 C27)C19 = C20(C19C20)C19 = C21(C19C21) Cl4 = C24(C14C24)Cl14 = C26(C14C26)Cl14 = C27(C14 C27)Cl14 = C28(C14 C28)C14 = C29(C14 C29)C18 = C20(C18 C20)
C19 = C23(C19C23)C19 = C25(C19C25)C19 = C27(C19C27)C20 = C21(C20C21)C20 = C22(C20C22)C20 = C23(C20C23) C18 = C21(C18C21)C18 = C24(C18C24)C18 = C26(C18C26)C18 = C27(C18C27)C18 = C28(C18C28)C18 = C29(C18C29)
C20 = C25(C20 C25)C20 = C27(C20 C27)C20 = C29(C20C29)C21 = C22(C21 C22)C21 = C23(C21C23)C21 = C25(C21C25) C20 = C21(C20C21)C20 = C22(C20C22)C20 = C24(C20C24)C20 = C26(C20C26)C20 = C27(C20C27)C20 = C28(C20C28)
C21 = C27(C21C27)C22 = C23( C22 C23)C22 = C25(C22C25)C22 = C27(C22C27)C22 = C29(C22C29)C23 = C25(C23C25) C20 = C29(C20C29)C21 = C22(C21C22)C21 = C24(C21C24)C21 = C26(C21C26)C21 = C27(C21 C27)C21 = C28(C21C28)
C23 = C27(C23 C27)C23 = C29(C23 C29)C25 = C27(C25C27)C25 = C29(C25C29)C27 = C29(C27C29) C22 = C24(C22C24)C22 = C26(C22C26)C22 = C27(C22 C27)C22 = C28(C22C28)C22 = C29(C22C29)C24 = C26(C24 C26)
C24 = C27(C24 C27)C24 = C28(C24C28)C24 = C29(C24C29)C26 = C27(C26 C27) C26_= C28(C26 C28)C26 = C29(C26 C29)
C27 = C28(C27 C28)C27 = C29(C27 C29)C28 = C29(C28 C29)




